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Sociology
Paper 11

HHSR(E
UrELIECI |

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : I YETUR AL TRUT IT9T (100) FIgaFREl 999 foolel 3A18d. Joish YAl S (2)
0T MRd. W YT Hiedl.

1. Whose work among the following | 1 @AY HIOTI HTH Spedr= “FREN
focussed on the “household dimension” ﬁqn R g o 2

of the family ?

(A) Pauline Kolenda (A) e ZhieteT
(B) S.C. Dube (B) T@. 9. T
(C) K.M. Kapadia (C) . WH. FHUfeam
(D) A.M. Shah D) T T T

2. How ‘Forest Rights Act 2006’

defines ‘Bonafide Livelihood Needs’
of tribals ?

2. ‘I B HIEGI, 2006 ALY * A=
CESICE Y SUEEIRRIES I TR LIS

heil 38 ?
(A) Fulfillment of livelihood needs
of kinship groups (A) STTTHHETAT IUSI{aeh] TLST= Gl
(B) Fulfillment of livelihood needs (B) @q: =1 301 ShedreAl 3usii{cehl
of self and family s W

(C) Fulfillment of livelihood needs ,,
(C) 3USiifaeh! 3T ISR TSI= tgi?n
and market needs

(D) Fulfillment of basic needs of all D) 5= W Het¥d XS] Tl
tribal groups Pkl
3 [P.T.O.
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3. Match List I with List 11 and select
the correct answer from the codes

given below :

List I (Thinkers)
(@) Vandana Shiva

(b) Flavia Agnes
(c) Bina Agarwal

(d)

Renana Jhabvala

List II (Issues)
(1) Gender and Law
(2) Women and Work

(3) Eco-feminism

(4) Gender and Land Rights

Codes :

(@)
(A) (1)
(B) (4)
(C) (3)
(D) (2)

(D)
(2)
(3)
(1)
(4)

(c)
(3)
(2)
(4)
(1)

(d)
(4)
(1)
(2)
(3)

4. Who 1s the author of the book “The
God Market : How globalization 1s
making India more Hindu” ?

(A) Devdutt Pattanaik

(B) Karen Armstrong
(C) Austin Neill

(D) Meera Nanda

3.

4,

IEEEIRE
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et I offor At II =SSl Seea
3TUT el feeiedt HehdTehTHYA ANy 3

grer 1 (faaaa)

(@) der T3rEn
(b) TATSAT 379

(c) T 3TRATA
(d) T SATIETA

qral I (999)

(1) fammyme eTfor shreT

(2) TSI 0T hH

(3) TIENE Sde
(4) Tam9E ST SHHE &b

* *
*
L 4

(@)
(A) (1)
(B) (4)
(C) (3)
(D) (2)

(b)
(2)
(3)
(1)
(4)

(c)
(3)
(2)
(4)
(1)

(d)
(4)
(1)
(2)
(3)

“Z TitE HIohe : BT TOEeTTIeIe ST AfchT
gfear AR 88" o Tk oi@sd i

3Aed ?

(A) TIET YeEH
(B) HRA STHEM

(C) 3T A
(D) | A<l
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5.  According to which sociologist, | 5. <RIV THSIYERTA Hd, ' GHT AT 379

‘rituals are sacred acts which
represent the religious beliefs’ ?

(A) Max Weber
(B) Emile Durkheim
(C) Edward Tylor

(D) Gerhard Lenski

The Dispersion of the Indians
beyond India 1s an example of :

(A) Diaspora
(B) Culture
(C) Habitus
(D) Network

Which one of the following 1s not
used as a measure of Gender
Related Development Index ?

(A) Life expectancy at birth
(B) Adult literacy rate

(C) Earned income

(D) Participation in work-force

Possession of attributes, like human
nature, agency, self-awareness
among other i1s defined as :

(A) Personhood
(B) Personality
(C) Embodiment
(D) Entitlement

CICERE IR LN AR E R EESEIE]
T hidd’ ?

(A) Hag de
(B) sfAd gL@™

(C) TSTe T
(D) TREE Ti=hl

(A) STATGGS STEUR STUTTd ST
(B) U 9raial &%

(C) THesdolel 3cqH

(D) WY HEH

AHEl TYE, Shdqul, 3TcH STRTGehdT SAT0T
S 7O S0 I hid U

(A) ki

|P.T.O.
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10.

11.

12.

Human Development Index (HDI)
measures the level of development
amongst various countries includes
the following set of indicators. Mark
the right answer :

(A) Health, Education and Income
(B) Freedom, equality and fraternity
(C) Equity, social justice and liberty
(D) Openness, freedom and equality

Which of the following 1s not the
characteristic of bureaucracy
according to Weber ?

(A) Specialization
(B) Flexibility
(C) Impersonality
(D) Hierarchy

Social networks can be described
as

(A) Set of nodes and a set of ties
that connect some or all of these
nodes

(B) Social groups with defined
boundaries

(C) Connections among individuals
overtime which result in social

bonds

(D) Informal organizations

Elite theory of power 1s developed
by :

(A) Pareto V.
(B) Parsons T.
(C) Engels F.
(D) Miliband R.

Prepp

Your Personadl Exams Guide

JUN - 14220/I11—A

9. WIeIdehl hivld feeehTa weah fafay
e Taehrar=an W isHrg Aral
faeshra fAg3meRtd (HDI) hdrd  ?

(A) TR, foreror mfor Icq—=

(B) @M=, §HEA 30 Sy

(C) HYar, 9HEIfSeh = F A0 W&a

(D) HihedUUTl, WA 30T FHME
10. ASHHER, WTeaAdsh! HITAT STh

AIhWMEA afvrsed AATEr ?

INBENEIETYS

(B) wdl=ehd

(C) STaRTehdT

(D) WS
11. 9IS 9siTad (Social Networks)

BN

(A) "= 9= 3T Gauman 949, Saqos
Tel Tohdl 9d Wgeh TehHG R SISl
NIGIGE

(B) Ti¥=d €|l 3A9ciel QISR e

(C) FaHed 3™ a9 S hiclad
qraTfSieh FEEEeEd gRafad =idm.

(D) HO=TRer TeeT

12. Hea= 3TfsH faga I faerfaa
hedl

(A) T =l
(B) WrE—g 2.
(C) TIeH TH.
(D) fHeliee 3T
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13.

14.

15.

16.

Which of the following statements
1s not true about a custom ?

(A) Custom 1s flexible
(B) It 1s specific and clear

(C) It emerges spontaneously
without any direction

(D) It needs a specialized institution
for enforcement

In Sociology ............ comprises the
social assets of a person (education,
intellect, style of speech etc.) that
promote social mobility 1n society.

(A) Cultural capital

(B) Protfessional capital

(C) Economic capital

(D) Symbolic capital

Symmetrical family refers to ..........

(A) Family transforms from joint to
Nuclear family

(B) Men are taking up family
responsibility

(C) Overtime, families becoming
more egaliterian 1n the

distribution of roles and
responsibilities

(D) Only women still continue to
bear family responsibility

In which census year data for slum

was collected for the first time in
India ?

(A) 1991
(B) 1981
(C) 2001
(D) 2011

13. WAdeh! <hivd fae™ o= d&did
g Aer 7

(A) 99T &1 oG 3Ted
(B) 9o faigrse 3qfur ¥ase 379dId

(C) E%ETWWHW@?W

(D) A=A THATSTAHIST W T

14, GHSIIETT TSI Tl <Tetl

16. HIATd ShIUTcal SO SOTARA GfgeareT
Aueyed! fasel Hifed! ehford hLvand

Al 2

(A) 1991
(B) 1981
(C) 2001
(D) 2011

|P.T.O.
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17. Denotified tribes are also known

18.

das ..

(A) Weavers

(B) Ex-criminal tribes
(C) Untouchables
(D) Scheduled tribes

Match List I with List II and select
the correct answer from the codes
given below :

(@)
(b)

(c)
(d)

(1)
(2)

(3)

(4)

List I (Authors)
Patricia Uberoi
Karuna Chanana

Pauline Kolenda

L.eela Dube
List II (Books)

Women and Kinship

Regional Differences in Family
Structure in India

Interrogating Women’s

Education

Family, Kinship and Marriage
in India

18. T I 1101 Iet 11 AEiel SeehT=al SISl

S[esdl & TENc! faeted Hohdlehlgd ARy
g et

qrEr 1 (@)
(@) YIfFreT SR
(b) HEA T
(¢) dici ISl
(@) Toen <@
Tt 11 (gE
(1) fauq 3fve {9l
(2) T fewtE 31 ®ifFcl T
3 sfedn
(3) TR faiq TsghIH
(4) e, fasiia ofe WS =9 fem

Codes :

(@)
(A) (1)
(B) (4)
(C) (3)
(D) (2)

()
(2)
(3)
(1)
(4)

(c)
(3)
(2)
(4)
(1)

(d)
(4)
(1)
(2)
(3)

+* *
+
*

(@)
(A) (1)
(B) (4)
(C) 3)

(D) (2)

()
(2)
(3)
(1)

(4)

(c)
(3)
(2)
(4)
(1)

(d)
(4)
(1)
(2)
(3)
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19.

Widowhood reflects a
control over all aspects of woman’s
life including her sexuality. Whose
views are these ?

structure of | 19.

JUN - 14220/I11—A

Ay o= 3Tl W giad od
it fSr=ama wifiterd §' = sgsar=
el 5] GHTfISE Biard. § fo=mr shivm
e 7

(A) HIRN =ed

(A) Maitrayee Chaudhuri
(B) Karuna Chanana (B) &0 AT
(C) Martha A. Chen (C) =gt T ==
(D) Veena Das (D) 9o <9
20. Which project has been initiated by 20. T UM FATHE e Feuid

the Government of India for creating
a cloud computing environment at
National level ?

A0 IR h0EREl YRd HEhRA
IOl Tohed TIR hell 378 7

(A) e-Bharat (A) T-9Rd
(B) Megh Raj (B) HeRTS
(C) Project Arrow (C) Yhed 3
(D) e-Kranti (D) 3-hrdl
21. Which one of the following cities has | 21. @eieTdeh] ShivTd YEY § THRdae! U

moved from colonial notions of

‘frgwm=a dgTad’ 4 SrfasieRomd

“pensioners’ paradise” to the QHTUW@IFSIT YR “T9efiend gl BUMH
globalisation driven “silicon valley S 2
2 27 ‘?
e
Hvyderaba ,
’ (B) “ITT®
(B) Bengaluru
(C) P © T
une
(D) Dehrad D) <&
ehradun
. ] 22. WcATeAUeh! IVl fEhI0T HeAd: ‘HHTS
22. }Nhl(;:h V1e\1?:v lfiocusei 0111: §0c1e}1:y as p s sty B | bear St
undamentally a “patriarchy in ainfgm fioama 71’ ATET T
which men dominate and oppress ST 2
women’” ? T
(A) Post-structural feminism (A) T HETERT HH AR
(B) Feminist existentialism (B) STifceER! S
(C) Liberal-feminism (C) SERHAERT THE1g
(D) Radical-feminism (D) STl ST
9 [P.T.O.
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23. Match List I with List IT and select | 23. =t I 3Tfor et I1 HEleT Se<hT=a1 Sl

the correct answer from the codes S[eedl & Tellell fSeied Hehdehld A1d
ogiven below : CRICIECEI
List I (Thinkers) et 1 (faemda)
(@) S.C. Dube (@) TH. 9. @
(b) S.C. Roy (b) TH. 9. ¥
(¢) D.N. Majumdar () . TH. AYHER
(d) V. Elwin (d) <&I. TedH
List II (Tribes) gret 11 (ST
(1) Khasa (1) TrHl
(2) Baiga (2) o
(3) Munda (3) HeI
(4) Kamar (4) HMHER
Codes : Gehdlch :
(@) b) () () (@) b) () ()
(A) @) 3 1) (@) A) 4) Q) 1) (2)
B) 3 2) @ (1) (B) 3) @) &) (1)
C) 2 3 1) ) C) 2) Q) 1) @)
D) (1) @) ) @) D) 1) @) Q) 4)
24. In elementary structures of kinship, | 24. TqHaE=A WAfHE AT Jal &1 HIMER
the alliance 1s based upon : YTRT 3A9d ?
(A) Rules of exogamy (A) dfefdarer IH
(B) Positive marriage rules (B) Taame™ ¥hRicHs aH
(C) Negative marriage rules (C) foamr Trcds IH
(D) Generalized exchange (D) 9E=Ihd A
2D, (())frlzental despotism 1s the feature | 25. %W T I

(A) Asiatic Mode of Production
(B) Feudal Mode of Production
(C) Primitive Mode of Production
(D) Ancient Mode of Production

10
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26. Who is the author of the book “The | 26. “T o€ = dce 3% Tk A Tk
Brave New World of Work” ? e iU 3Ted  ?
(B) George Ritzer (B) St feer
(C) U.lrich Beck | ) : é‘m"
(D) Pierre Bourdieu frd
27. Which economic system 1s based on ) 1 Ei
market exchange principle ? 27. ShIUT ATk SHa%e deiR T Hd dwamer
(A) Primitive economies MG 3THd 2
(B) Modern economies (A) 3TfCH STUTTE

28.

(C) Rural economies

(D) Small economies

The Rights of Persons with
Disabilities Act in India was passed
in which year ?

28.

(B) 3nYfTeh 3THaE

(C) UTHUT SIYHTET

(D) R UL

TR I o= g9k fao&eh
IS ohegl HHA TTCN ?

(A) 2007
(B) 2011 (A) 2007
(C) 2013 (B) 2011
(D) 2016 (C) 2013
29. (Given below are two statements, one
1s labelled as Assertion (A) and the (D) 2016
other as Reason (R) : 29. Welt gF faum foeft oRd. <Iieht Tk
Assertion (A) : Family is unable gfqaied (A) 378 AT SER I Rl
to provide care and support to (R) 3Te.

elderly.
Reason (R) : Family has shrunken
In size.
Select the correct answer from the

QiuTaT (A) : TIEHH Fal S0 TER
QU heagel THHY 3R

&ROT (R) : FZd 3hRMH -H STail

codes given below : 3ATRd.
Codes : WAt HohdlehTdeh! SeR Hohd aer :
(A) Both (A) and (R) are true and

(R) 1s the correct explanation
of (A)

(A) (A) 307 (R) S8l SIRIeR 3TTed 30T
(R)  (A) T AT TIIeh{v] 3%,

(B) Both (A) and (R) are true but (B) (A) 30T (R) €%l ST 3Ted 9]
(R) 1s not the correct explanation (R) T (A) ¥ IT TR0 TRl
of (A)

(C) (A) is true but (R) is false (C) (A) & SR 3Me T (R) T 3TTe:

(D) (A) is false but (R) is true (D) (A) I 38 YU (R) s 3.

11

|P.T.O.
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30. Match the List 1 with List II by

31.

choosing the correct answer from the
codes given below :

List I (Books)
(@) Dynamics of Cultural Change
(b) Analysis of Social Change
(¢c) Africa in Social Change
(d) Asian Drama

List II (Authors)

(z) G. Myrdal
1) P.C. Lloyd
(z2z) B. Malinowski
(zv) G. Wilson
Codes :

(@) b)) () ()
(A) @) G @) (Gov)
(B) ) @ @) )
(C) @) Gir) Gv) @
D) @) ) @) @)
Given below the two statements, one

1s labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : Maharashtra state
has the largest number of slum
dwellers in India.

Reason (R) : It has the largest
number of urban dwellers.

Select the correct answer from the
codes given below :

(A) Both (A) and (R) are true and
(R) 1s the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) 1s not the correct
explanation of (A)

(C) (A) 1s true, but (R) 1s false
(D) (A) 1s false, but (R) 1s true

12
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30. Il I Il I 31 et 311 Wet feaien

HehdlehTHEA I I el -
gt I (qeeh)

(@) SEAHERT 3Ah Shoalad Tl

(b) m@rﬁwm%%ﬁ

(@) b) () ()
(A) @) @) Gi) Qo)
(B) Gv) @) () )
(C) () i) Gv) @)
D) Gu) Gv) G) @)
31. el g9 faum fGoicl 3Aed, Thid

gfqued (A) g aw%mmwm
(R) FalTed TR,

gfaarEd (A) : YRAdid SIS uelrd
WWWWWW

qSqHEd 318,

&7 (R) : I Hdld Sd AR
AFEE 3R,

%Eﬁﬁﬁwwmwaﬂﬂﬁww

¢§ : :

(A) <IEI(A) A (R) § 3Tk 3T15d A0
(R) € (A) ¥ Irg TR0 3Te.

(B) Il (A) iUl (R) & oTeh 3Ted
% (R) ® (A) 9 Iy TSI

(C) ?ﬁ)&r%aﬂﬁaﬁmﬁ(m%ﬂﬁ%

(D) ;%%q\a:a%m‘@(m%w
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32. Which  Anthropologist  has | 32. < HHSE 301 IR HHSE AT <M
differentiated between folk IS ®ih hIUA AT
community and urban community ? Al e ?

(A) Robert Redfield (A) o2 Efres

(B) Radcliffe-Brown (B) {sfR® s

(C) Bronislaw Malinowski (C) S er Hferreteht
(D) Claude Levi-Strauss (D) Tl oR-=d

33. Which concept of Darwin suggests | g5 =1fif==f Fordt Oeu gEad 1, TRl
that certain social characteristics s ST iR & Aafits
played key role in the survivability TafeRua e SRdaTESt TeETh
of groups 1n the natural environ- AR 7
ment ? |

A) HHEC IEETH
(A) Human Ecology )
(B) Natural Selection (B)
(C) Human Environment (©) |
(D) Existential Dualism D) =

34. (Gidden’s structuration theory, 1s the . pain i ; & aﬁij@‘%’ﬁﬁ ,.ET

theory of the relationship between : | 777 S il
faquma 3

(A) Structure and Agency ,
(A) HT&A1 30T haaol

(B) Agency and Structure *
(B) hdqul 307 HI=AT

(C) Actors and Agency
(C) &hd 3T gl

(D) Culture and System *

. . (D) G&hdl AU T

35. India gets maximum share of her
GDP from which of the following | 35. ¥RGIT STeHEE=AT ShIvIA &R Held
sectors of economy ? ST Wehel SO 3cq=1 THexdl 2
(A) Agriculture (A) Tl &=
(B) Industry (B) S &

(C) Service (C) Hen &
(D) All share equally (D) §el &5 HHM JHOM
13 [P.T.O.
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36. In which of his books Foucault | 36. Tl AT=AT HITAT T d AT
uses the term ‘gaze’ as a form of JhR FUH ‘Ueredl Te’ g 9
knowledge ? I/

(A) The Birth of the Clinic (A) T 99 AT < T
(B) Madness and Civilization (B) We4g ofe fofsarasye
(C) Discipline and Punish (C) Fefaefa sfe oo

(D) The History of Sexuality D) T ot st Jagafad

37. The productive organization of land, :

P 5 37. SIHArA 3cUled HeeAqHE 3Tfciche <Al
in recent times, does not consist of
W ************************ En -\q-l:ﬂa-s[ @H
....................... T
(A) Family labour _
(A) HAIa HAHSR
(B) Jajmani system
(B) STSTHMT He&
(C) Hired labour
(C) Y=l HAHh
(D) Tenancy
| (D) FHos

38. Tebhaga movement was mainly
almed at . 38_ a.q:nT”. W .q_g@. 3@_5_' ***************
(A) Social reform &I
(B) Revolutionary transformation of (A) | FER

the whole society (B) |0l HHSTE ShifdehRl TiRedA
(C) Reduction of land taxes (C) I@E=Ad hard

(D) Fair price for the crops

14
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40.

41.

42.

Who was of the opinion that
‘revolutions are locomotives of
history’ ?

(A) E. Kant

(B) K. Marx

(C) G.W.E. Hegel
(D) F. Engels

Which of the following forms 1s not
an emerging form of family ?

(A) Single parent families
(B) Stem families
(C) Reconstituted families

(D) Childless families

According to whom “The spread of
mass media and mass entertainment

cause the public sphere to become
largely sham” ?

(A) Louis Althusser
(B) Jurgen Habermas
(C) John Thompson
(D) Daniel Learner

Which state has maximum area
under forests ?

(A) Madhya Pradesh
(B) Odisha

(C) Andhra Pradesh
(D) Chhattisgarh

15
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39. WeicTdeh! Shuld Hd 379 37§ i Shidl

4].

3 Sfaee ¥ O 3T ?
(A) 3. WU
(B) <h. HRi

“SAYER HTEH AT §H HARSTHTEA
Teld e Hesleh 3TahI¥ SNl o
. W fau™ vt el ?

(A) TEH TTYW

(B) S{IF SToH™

(C) S g9

(D) EFaa T

42. RO TSAHE TAIEh Sl AThad

|P.T.O.
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43. Which one of the following is true | 43. e YeAEEG @Ecdh! SO fa&™

about the open-ended questions ?
(A)
(B)
(C)

Difficulty 1n raising an issue
Not easy to get free response

Simple and easy to analyze the

responses

(D) Fixed structure for respondents

to reply

U 3T ?
(A) 939 TaaRoImed Juil ASTUl
(B) Eoll Gfade He(au HAaee 3#d

(C) HfdHRr fae™ur Sh{od™e |y AT
gAY
(D) Yfa9Eehr=al STUEel MHeid =

44. °‘The field of sports 1s often dominated ‘ ‘_
by the males’. This shows ............ : 44. 'hIeIEA T e gﬁilla T T
3“ V if rpopyy SRS SR SRR SRS R bR
(A) There 1s connection between B T Y
sports and patriarchy SIERE

(B) Women are weaker sports-

PETrsSons

(C)

There 1s connection between

sports and politics

(D) Men are better sportspersons

(A) whieters Afor fUge Jr=and e
ey 3R
(B) T&=n wHchad ©Rg AR

(C) HiST& AT TSTRIL0] JTATd e
3TTed

45. Structural forms as analysed by A.R.
Radcliffe-Brown are .................... : (D) ‘3—5[3[ %‘ a:ﬁ‘aa; W ‘@m 34'@?[
(A) Abstract forms of social 45. T IR T : Z Ry e
structure 1_
WW "(tTE[ m ....................
(B) Concrete forms of social

structure

(C) Integrative forms of social

structure

(D) Functional forms of social

structure

16
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46. What was India’s rank in the | 46. 2018 A& YR e 9EfaoTeh a9
Gender Related Development Index Uit Thadl BIAl 7
' 2%
in 2018 (A) 125
(A) 125
(B) 130
(B) 130 ©) 131
(C) 131
(D) 134 (D) 134

47. WATAdeht 99l STd hIod] 2

47. Which among the following 1s a
dominant caste ? (A) SerRTie
(A) Vokkaliga (B) 9
(B) Kansara (C) IS
(C) Banjara (D) HET
(D) Matang 8. el I Hefiel Hagdr Iel 11 Hefied
48. Match List I with List IT and mark RNl SIEY @Wﬁ feetedn A Sar=
the correct answer from the codes Hehdlehlqd gaiEm=l fere s
given below : T 1

List 1
(a) Preparation of code sheet
(b) Retesting the codified data

(c) Preparation of code book
(d) Testing of code book

(@) Fohd dadl dIR vl

(b) Hohdiehd TLATEl GAAAUIT H]
(c) Hohd J&&h IR 0

(d) Gohd T&Ihr&l =TS0 h0l

List 11 aret 11
(i) Stage I (1) A 1
(i) Stage II (1) Ao 11
(iiz) Stage III (fiz) 3TaLern III
(tv) TIEAT IV

(zv) Stage 1V
Codes :

(@ b) () ()
(A) @) @) @) Gv)
(B) ) @) @) @)
(C) (w) u) @) @)
(D) G@u) () @) @)

17

* *
4
\ 4

@) b)) (@ ()

(A) @) @) (@u) (w)

(B) @u) @) @) @)

(C) Gv) @) Gi) @)

D) Gu) @) @) (@)
[P.T.O.
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49. ‘McDonaldization’ term is coined | 49. ° u 3 B = | R
by : JHET FHT0T Shet.
(A) Giddens (A) TreH
(B) Sassen (B) 9&A
(C) Ritzer (C) &=
(D) Coser (D) i
50. Habitus is not ..................... . 50. Bfdeqg g e el
(A) Structured (A) Sf=d
(B) Durable (B) m
(C) Permanent (C) HTEH
(D) Inculcated (D) HATIY Wﬁ@[
51. In which year was ‘The-Proi-:ection £1 WW st ‘?@fﬂ%" :
of ngen from Dc.:omestu.: Violence et TIe0 HIvgTETed STt
Act’ implemented in India ? STOATSEIN Fef T 2
(A) 2003 (A) 2003
(B) 4888 (B) 2005
(C) 2006 (C) 2006
(D) 2011 | D) 2011
= X’Y‘?aoge}i); %?lggiifn%n;}l; phrase | 5o ‘e egﬂ w;w g AR I
A) Garret Hards s |
(A) (Garre ardin (A) e
(B) Thomas Kuhn "
(C) J Baudrillard )
call auariiiar &
(C) ST diige
(D) John Thompson L
53. Which f the follow: 1al s
. ich one o e following socia
oroups 1S not experiencing the state 53. TeIeTdeh! ShHIITal HHT 3,)' h FHE WIS
of social exclusion ? SIEEN] SHAd &l
(A) Indigenous people (A) HaAaTE! lsh
(B) The poor (B) e <eh
(C) Gated communities (C) W-giferd 9qg
(D) The homeless (D) o=

18
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54. AT Ad dlfcheh ShIASIN ST

ETeATAdeh! hIodl JehR 38 7

A) Feudals - i* :
EB; Beu alism B)
ureaucracy ..
(C) e
(C) Autocracy
(D) TR

(D) Slavery

55. TRfEd Helrerd &t hemEradl SUFNT STTure!

55. Structured interview 1s used for : S )
(A) Life History *F :
(B) L Scale Data Collect: y
arge Scale Data Collection ,,
° . (B) HISAT HIOMG HAfsdi® Tehold
(C) Analysis of Images J
ORIGEIERENSEL

(D) Creation of new theory and

method (D) e fagra sufor ggdi=r HiHd
56. Which one of the following is not a | 56. @ITcilcidshl HITd Fd &M Sf¥TSe
characteristic of survey ? e ?
(A) It is based on a representative (A) SRIEIA=AT ATAATEdR  THTAY
sample of a population. MY 38
(B) It 1s based on data directly (B) gﬁg@mﬁ ye] fasfaciean
sought from the respondents. Tifedier SMYRol 3T

general and abstract problems. o

(D) T ICHAR T hial HiSd T&H
GfaEIGeRMT |HEH Hd

57. WTelTeTdeh] ShivTAl <91 Haid hH! faeh ad
HAUhRT TS 38 ?

(D) It covers large number of
respondents compared with
other methods

57. Which of the following 1s the least
developed welfare state ?

(A) Sweden (A) e
(B) USA (B) J.TH.T.
(C) Finland (C) frcts
(D) France (D) T

19 |P.T.O.
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58. Who coined the term ‘mores’ to refer | 58 WA FHUMS YIfAd STTUM=I] 370
to norms that are widely observed e Tfaas ar=ar gevld ‘At
and have great moral Signiﬁcance ? T ﬂ?ﬁﬁ ﬁ&k‘ﬁ aﬁﬂﬁ w 9
(A) Pierre Bourdieu A fra m
(B) W.G. Sumner -
B) Sy, . Y
(C) C.H. Cooley o
(D) Max Weber ©) ¥l T3 %
59. The Supreme Court of India (D) Hed
invalidated a part of Section 377 of 59 A=Al gf—:ﬁﬁ W q:ﬂ-{?ﬂ-q a—er
the IPC decriminalizing ? Tfed= 377 T qIET 319y R
( A) Attempt to suicide ....................... {\E‘@W aﬁ 7
(B) Prostitution (A) RS T9E™
(C) Homosexuality B) 3 g
(D) Human trafficking
‘ ;. . (C) HHARTHAT
60. ‘Interpretivism’ 1s the position
s W . (D) AT TR
(A) Epistemological 60. ITTAYAE &I Q{ﬁ?ﬂ AT
(B) Theoretical (A) FEHHETEETSN
(C) Ontological (B) @Q‘EIT%F%"
(D) Methodological () - :
61. Which of the following statements
about honour Kkillings 1s not (D) FEHARITEAT
correct ? 61. AR ferfermen Tguia 1T
(A) Are different from dowry deaths faym seR At ?

(B)
(C)

Are not recognized by law

Are mostly directed against
women

(D) Occurs 1n South Asian countries

only
20
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62. Two statements are given, one is | 62. Wl < fau™ fedl 38d. Teh T8

labelled as Assertion (A) and other gfaae (A) 70T 5 3T’ HROT (R).
as Reason (R) :
Assertion (A) : R B . qiqared (A) : THRUAYA  STREUMHS
ssertion : Reservations 1n : 8 R
jobs help the SC, ST to improve their T ST~
situation. R TEIEl Hed 2.
Reason (R) : In a democracy equity ST (R) : AHIMEHE AT CH
1S a must to ensure equality. QUMEE] U™l 92y AEYIs  ATe.
Select the correct answer from the ETeATe] TohdehTush! &Y 3l HaeT -
codes given below :
(A) (A) A7 (R) ST SR 3T 3TI{or
(A) Both (A) and (R) are correct and R) T (A) T 3 TIHFI T
R 1s the correct explanation
of A (B) (A) 3Tfor (R) STl SRS ATed qUT
(B) Both (A) and (R) are correct but (R) & (A) &AM TR TRl
(R) 1s not the correct explanation (@) (A) SR 34-‘%- tl'{@ (R) IF 35”%-
of (A)

(D) (A) I 38 T (R) s 3Te.
63. WcicTdeh! ahIvId! J&ieh oh. HAQRH A

(C) (A) 1s true, but (R) 1s false
(D) A 1s false but (R) 1s true

. . . fafeet -w@r ?

63. Which of the following books 1s not

written by K. Mannheim ? (A) SEAAIEYE 3h 3Te A

(A) Diagnosis of Our Time (B) Eﬂ*ﬁlﬁ 3w fofehr

(B) Structures of Thinking (C) <1 Sifvreierst A% Afas

(C) The Sociology of Knowledge (D) Teresfegm

(D) Conservagism 64. T EH A=A T FHSTITEET SAE o
64. According to Durkheim what 1s the FHTT 3R 7

subject matter of Sociology ? >

A) FHEISTR d

(A) Social Facts -

(B) Social Actions (B)

(C) Social Systems (OREILIEEIRZER

(D) Social Patterns (D) |, oY

21 |P.T.O.
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Which of the following is not true | g5. WWWW%{W
about the sample units ? A TR ?

(A) Sample units must be chosen 1n

(A) TES YU THAT Teheh fHaSo

an objective manner

(B) They must be independent of
each other (B) d TsHHeRIER 3Tecied THTed
] h :
(C) 9nce selected, they cannot be () ~ Y w® FE T
discarded
(D) They must be interchangeable (D) WMEl SRS HIAl el e

Who among the following propounded | 66. It fag @relicidsh! o TS ?
the Alliance Theory ?

(A) T 3AN. dTSHA
(A) A.R. Brown

(B) Claude Levi Strauss (B) T oi-RIS4
(C) B. Malinowski (C) . HicAleghi
(D) F. Meyer D) . R

Which one of the following
statements 1s not correct ?

67. WIocideh! hIvd faa™ Qe ATat 2

(A) Ethnomethodology examines (A) RIGHARIE Tllehdgdd’ &
the ‘folk’ methods HTd.
(B) Ethnomethodology challenges B) & : : ?

existing concept of objective

AU HehoUddl 3T <.

reality
(C) Ethnomethodology uses (C) SIRUSLIAIINE  THIHATHS
interpretative approach rather W T Q‘W‘—ﬂ?ﬂ
th t1 h
an normative approac S

(D) Ethnomethodology emphasizes
on study of macro structures in (D) Fﬁm‘ﬂ?ﬁ‘ﬂm UTSITale 9aY

society T 3Tl U8t od.
22
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68. National policy on older persons was | 68. ShIUT 6T YRAM SH&REGH TR

announced 1n India in which year ? g0 SRR el ?
(A) 1996 (A) 1996
(B) 1997 (B) 1997
(C) 1999 (C) 1999
(D) 2001 (D) 2001
69. Who understands actions in terms | g9, TS Shdi=al 319 AfKITSS TATHE
of the subjectively interpretative aaﬁwﬁﬁaﬁwwwﬁ
meaning of Social Action ? Baer ?
(B) V Pareto (B) Fbﬁ.* -tin-
(C) T. Parsons ) F. T
70. “The p.rociis 1l:oyt whsﬁh- aclzt(;)rs fa;llqt: 70, ‘o W I W
r?cogmse at 1 1s. . elr a. our a” NPT TTIeN ST S grERdeT
gives the commodities their value”, | < ..
. HIer 3 WU
1s termed by Marx as :
(A) Fetishism (A) T
(B) Emancipation LB) ﬂ\iil
(C) Socialism (C) HHISER
(D) Contradiction (D) feremsr
71. The process of inculcation of 71. WHIO, H@ IV TPl FIER oe-
norms, values and culture 1is RRIIIER] U
Known as .....cocevevenininnenen. . STe3ere .
(A) Secularization (A) TeHTRTom
(B) Sanskritization (B) HEHATHI
(C) Socialization (C) WTHITSTehIehoT
(D) Westernization (D) dTETEhLT

23 |P.T.O.
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72. Which one of the following measures | 72. W@cilcTdeh] v ATYT € hald Fairl
of central tendency 1s a positional T 99y 37 ?
average ?
(A) T
(A) Mean ,_
(B) H&Th
(B) Median
(C) dgcdsh
(C) Mode

13.

(D) Both (A) and (B)

K. Mannheim distinguishes between
two types of 1deologies. Which are
these two 1deologies ?

(A) Total-conception and Partial-
conception

(B) Democratic and Authoritarian
(C) Egalitarian and Non-egalitarian

(D) Radical and Conservative

13.

4.

D) (A) ° (B) Tr=l

%h. HAgEH S Y=l faamgueiidia
f=ar <vifadl. = fa=aRyune! shioren ?

(A) FHU Hahoud ST AR HehouH
(B) WAIRYMGIEGT AU Helshoelal
(C) qHdmamet 3o fasuHarac!

(D) STl AT FATT

'Y ATH T H|IA' AT R0

74. th) ,wrote about ‘Death of the (A) T
Social’ ?
(A) Cooper (B) W
(B) Foucault (C) WA
(C) Merton (D) Srser

(D) Baudrillard

19.

T &1 Tk ThIEl aUil 3T Yehd ohi
STAT HISAHIGH FLHCHeR dealr=l ¥y

P ot apeoeh through which strastueal | N ST TR 9 S o
principles could be discovered ? AR 7
(A) A.R. Radcliffe-Brown (A) T IR IERIE S
(B) P. Bourdieu (B) . 34
(C) M. Foucault (C) WH. ehl
(D) C. Levi-Strauss (D) 9. oieei-w=2d

24
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Match the List 1 with List II and
select the correct answer from the
codes given below :

List I (Thinkers)

(@) A. Radcliffe-Brown
(b) B. Malinowski
(c) T. Parsons
(d) R. Merton

List II (Perspectives)
(1) Cultural Functionalism
(2) Analytical Functionalism
(3) Empirical Functionalism
(4) Structural Functionalism

Codes :
(@) b)) () ()

6. It I 3o At IT Helted SeahT=A1 SISl

S[esdll & @l faeled Hohdlshigd Ay
= fHaeT
grer I (fa=maq)
(@) T TSFA® oA
(b) . HeAAretnt
(¢) <. dE9g

=

(d) 3. HeA

@ ® © @

(A) (2)
(B) (3)
(C) (4)
(D) (4)

(3)
(4)
(1)
(1)

(1)
(1)
(2)
(3)

(4)
(2)
(3)
(2)

(A) (2)
(B) (3)

(C) (4)
(D) (4)

(1)
(1)

(2)
(3)

(3)
(2)

Match the List-1 with the List-1I and

select the correct answer from the
codes given below :

List 1
(Sub-systems)

(@) Law
(b) Family
(c) Economy
(d) Polity

List 11

(Functions)

(1) Adaptation
(2) Goal attainment
(3) Integration
(4) Latency
Codes :

77. @el fodd 99 1 ofur 11 Sesdl

3ATfOT feTet Tohdleh &I B 3Teh Sl

foTer
grat 1
(39-Uegd)

(a)
(A) (2)
(B) (3)
(C) (3)
(D) (4)

(b)
(1)
(4)
(4)
(3)

(c)
(4)
(2)
(1)
(1)

(d)
(3)
(1)
(2)
(2)

29

(@)
(A) (2)
(B) (3)
(C) (3)
(D) (4)

(c)
(4)
(2)
(1)
(1)

(d)
(3)
(1)
(2)
(2)

|P.T.O.
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78. “Glass ceiling” is the term used in | 78. “=< ©d" & Whoddl WIelaidshi
the context of - | e T e e
(A) Occupational gender segregation (A) TATYETTER FaamEr fayerdien o
(B) Women’s promotion (B) foa= 1ot
(C) Job insecurity (C) et srgEfarda
(D) Emotional labour D) 9EfF 9

" ut Tocation is mot changed. Tais | 79 FIEI T wTC e, W, fowm
SUZLESES cevvvininininnnnen. . | STeeee R ® '{{%Iﬁ i
(A) Breach of faith (A) TTEred Fe1 S
(B) Breach of morality (B) Hfcehcatr =T
(C) Breach of anonymity (C) STATHSAET TST SO
(D) Breach of promise (D) SEAH

80. Which one of the following is not a | 30. @eileTdeh! ShivTd MY eh A= HIT
part of post-modernism ? et ?
(A) Progress, universalism (A) 9ITdl, Greehararg
(B) Chaos, difference (B) MY, 43
(C) Fragmentation (C) faEEi
(D) Representation (D) gfgequ

81. E}?rfiist organization is characterized | g1 Eifde gueay Sfomeesy T IR,
(A) Standardization of commodities 4) Wi aﬁﬁ T
(B) Decentralization of labour (B) #HTH TorhsIsh
(C) Flexibility (C) e
(D) Tailor-made goods (D) WW axd

82. Irawati Karve has divided kinship 82. el el AMI A<HaY HereT=l fefel
organization 1nto ..................... . AT 99 el R 7
(A) Two zones (A) TH &
(B) Three zones (B) T &
(C) Four zones (C) 9”&
(D) Five zones (D) U= &3

26
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Given below are two statements, one
1s labelled as Assertion (A) and other
as Reason (R) :

Assertion (A) : Ambient air quality

33.
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Gl g1 faum™ feerelt 3Ted, Teh gfqueA
(A) 3T T HRU (R) oYl 2.

gfaareq (A) : fagdfqag foodt=an

of Delhi 1s deteriorating day by day. TSROl Ber=l Ul e B 3.
Reason (R) : Stubble burning in HRUT (R) : 9@ ATf07 gRATOmHE
Panjab and Haryana affects air SMBUATd JUMR YT T2 feeai=a1 gde
quality 1n Delha. TR hdld.

Select the correct answer from the
codes given below :

Codes :

Eeiel faeledl Hehdlshr=AT ATUR 3T
E I ECE N

(A) TRl (A) AT (R) T SR 377 31107

(A) Both (A) and (R) are correct and
(R) 1s the correct explanation (R) © (A) & R TR 3e
of (&) (B) SR (A) aTfor (R) & sRIR a7,
(B) Both (A) and (R) are correct q-{@ (R) T (A) ¥ SR 3l &l
but (R) 1s not the correct
explanation of (A) (C) (A) T SR &' (R) ® i oMo
(C) (A) is true, but (R) is false (D) (A) g Fohid 3 W (R) B sUK
(D) (A) 1s false, but (R) 1s true e

Which of the following methods has
been used by C. Geertz ?

34.

T, Tt AT Wieierdehl hioredT JgEdiaT
gIIL ohell 378 ?

(A) Participant observation (A) HewrT fter
(B) Systematic observation (B) A frreqon
(C) Thick description (C) &= guH
(D) Systematic description (D) A ERIE
85. H. Garfinkel's work is associated | 85. TH. TRfthehed I ahrd
with ..o, . I gafea 3e.
(A) Conversation analysis (A) Yoo fagerso
(B) Content analysis (B) WM™ {ageis
(C) Discursive analysis (C) T=zct Tagatom
(D) Discourse analysis (D) FaTod oo

2'7
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37.

38.

Gandhi’s notion of Antyodaya
refers to :

(A) Welfarism
(B) Assimilation of Harijan

(C) Inclusion of Harijan

(D) Rights to the bottommost
section

“Neoliberalism and rise of neo-
fundamentalist movements are
two sides of the same coin.” Who said

1t ?

(A) M. Castells
(B) D. Harvey
(C) S. Sassen
(D) P. Bourdieu

Match List I with List II and select
the correct answer from the codes
given below :

List I (Authors)

(@) M. Foucault
(b) A. Giddens
(c) J. Habermas
(d) P. Bourdieu

List II (Concepts)
(1) Duality of structure
(2) Practice
(3) Episteme
(4) Ideal-speech situation
Codes :

(@)
(A) (1)
(B) 4)
(C) (2)
(D) 3)

()
(2)
(3)
(4)
(1)

(c)
(3)
(2)
(3)
(4)

(d)
(4)
(1)
(1)
(2)
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(C) BISHTE HHICIRTT
(D) TId dal=d] Hehlell BFeh <Ul

87. WHW@WW

37T,
T

(A) TH. HRZeH
(B) €. TEl

(@)
(A) (1)
(B) 4)
(C) (2)
(D) 3)

()

(1)

(c)
(3)
(2)
(3)
(4)

(d)
(4)
(1)
(1)
(2)


https://prepp.in/

www.prepp.in

Prepp

Your Personadl Exams Guide

JUN - 14220/I11—A

39.

90.

91.

2,

“KEpisteme” 1S ...cccocevevnenennen..

(A) Socio-historical method to
analyse impact of power on
discourse

(B)
(C)

Analysis of archeological forms

Unidimensional understanding
of pre-existing codes

(D) Framework of knowledge that
shapes discourse and helps in
specific understanding of the

world
Which of the following 1s a

characteristic of qualitative
methods ?
(A) Emphasis on the exploration of

meaning

(B) Emphasis on the precision of

data

Emphasis on the exploration of
generalized central tendencies

(C)

(D) Emphasis on researcher’s
objectivity

Confidentiality does not

MEeAN .....ccoeuevnennenn.. .

(A) Changing names
(B) Anonymity

(C) Protecting
respondants

1dentity of

(D) Funders will have access to
respondants

The farmers’” movements by the
middle peasantry are mainly
concerned with .................... .

(A) Redistribution of land

(B) Equal share to sharecropers
(C) Fair price for crops

(D) Getting rid of the middlemen

29
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(A) Tc=a1 GHISEeR 9Sum=a1 GHEr
ICEEENE TR IS E UG RIEED
TGl

(B) Adcaarc Tehir foageison
(C) Yo ToIerHM Hehd™ TR 3Tehai

(D) S fauIe 3Tehad BIUITAl HSd
SO 3T I fagdTell 3ThT
QUM I <lehe

90. WIaileTdsh! TUMH® Ygdrd AfITsed

hIUTd 2

(A) 31 INYTIER WX

(B) A=A 3Tehdal X
(C) HH=ihd ALYl IMNYTIER 9]
(D) EINYRTAT THITSAA ¥

iiiiiiiiiiiiiiiiiiiiiiiiiiiiii

(B) AT Hhdl
(C) ufqEer=i s Tifara a0l
(D) WHESehlen SfaaRigdd dg Qo

02. HEIH IAFHIHEl ATAdoldl Ideh=aral
Wm ********************* ﬁw\aﬁ

e,

(A) A gAY

(B) Weh=ai{T THM few
(C) TUerren et forad
(D) HEIEY L HI00

|P.T.O.
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93. When was the ‘National Cyber | 93. ‘SyHe 9&eR TRl alelidl’ oheel

Security Policy’ enacted in India ? T 3Tet 2
LA A (A) 2007
(B) 2009
(B) 2009
(C) 2011
D) 2013 B 207
94. Ethnography implies : (D) 2013
( A) People Are meaning makedl 04 W .......................... Hr_tlﬁ W
(B) Objective study (A) e AT Hdad
(C) Research people (B) orgfTss s1earem
(D) Proximity of researcher C) FEET T
95. Which was the report published by :
the ‘Club of Rome’ in the context of (D) wRIEETEl fhedl

rise of green movements public | g5 ggferomen gyaIfaSER /< SIEEEY
concern about environmental =T T () 1 sTee=

roblems ? : .
y’ TEYd FAd AT U9 GhIITd oholedl
(A) Our Common Future STEETe U

(B) The Limits to Growth 5
(A) AT AT H=X
(C) Sustainable Development

(D) Green Peace (B) T ToHieq g A

96. Which among the following 1s not (C) FETA SHATHE
among the core objectives of India’s (D) I+ T

Forest Rights Act, 2006 ?
96. WTcTdeh! hIvTal Hel HRATET g9 gekh
(A) Recognition of community forest

rights hTIST 2006 <A1 H&A IfEeedehl @l ?
(B) Securing livelihood of the forest (A) HHSIIS I R STTEHIA QU

community (B) 59 : TS A
(C) Empowerment of local self Lo

government (C) TAF T AT Feaohe| <0l
(D) Empowerment of tribals (D) sTiardre Helcleh{ol {0l
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97. For which one of sampling types | 97. <l 9g&t 30T RIHEEER] THAT Tehh

lottery method and Random faei=a1 o9 Ysd! WIeieish] ShIueaT
numbers are used for selecting the T frae TsdHsy emed 2
sample ? |

(A) Cluster sampling
(B) Multi-phase sampling

() Quota samyiling (C) i Fas wgdl

(D) Simple random sampling (D) e AGIosd THA e g5l
98. Which of the following is not the | 98. WIcilcTiehl IV SHT=INE AL

characteristic of informal economy ? JfeTSeT ATEr ?

(A) Flexibility (A) ASTeehdl

(B) Casualization (B) TR0

(C) Homebased work (C) =g &

(D) Collective bargaining (D) |fesh GrRsrsi

99. Which of the following 1s t rre .- NI
anallyzed 1n pos\:-lmid]érnrz(s)t . I ' RNIERIL
HIME Ty ohel SI1d ATSE 7

research ?
(A) Chaos (A) TS
(B) Gaps and silences (B) AR 9 HHF
(C) Continuity (C) Hided
(D) Fragmentation (D) foEEiRT
100. In an unstructured interview | 190 s1gEtfaq oA =
mterpreted ....... also need to be e w7 eEaE.
(A) Photographs (A) BT
(B) Reports (B) Steaet

(C) Silences and pauses
(D) Scales (D) A
31 [P.T.O.
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ROUGH WORK
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